
	
	N3
	
	Recognise and use relationships between operations,
including inverse operations (eg cancellation to simplify calculations and expressions); use conventional notation for priority of operations, including brackets, powers, roots and reciprocals
	

	
	
	
	
	


	
	Teaching Guidance
	

	
	Students should be able to:

· add, subtract, multiply and divide using commutative, associative and distributive laws 

· understand and use inverse operations 

· use brackets and the hierarchy of operations 

· solve problems set in words.
	

	
	Notes
	

	
	Questions requiring these number skills could be set, for example, as a numerical part of a question testing time, fractions, decimals, percentages, ratio or proportion, interpreting graphs, using a formula in words or substituting into an algebraic expression, interpreting a statistical diagram or interrogating a data set.
	

	
	Examples
	

	
	1
	Use all of the numbers 2, 5, 9 and 10, brackets and any operations to write a numerical expression equal to 3
	

	
	2
	A cup of coffee costs £1.30

A cup of tea costs £1.10
I buy three cups of coffee and two cups of tea. 

How much change should I get from a £10 note?
	

	
	3
	A cup of coffee costs £1.30

A cup of tea costs £1.10

I want to buy three cups of coffee and two cups of tea.

I have a voucher for one free cup of coffee with every two cups of coffee bought.
How much should I pay?
	

	
	4
	Work out the value of        (24 (1)2
	


	
	5
	The data below shows the number of people in the seats in each row of a theatre.

19    17    14    15    18    17    12    8    4    3

The theatre holds 200 people.

How many empty seats are there?
	

	
	6
	The mean weight of 9 people is 79 kg
A 10th person is such that the mean weight increases by 1 kg
How heavy is the 10th person? 
	

	
	7
	Luke says that    3 + 4 ( 5 = 35

Is he correct?

Give a reason for your answer.
	

	
	8
	The time in London is 13.00 when the time in New York is 08.00 and the time in 
San Francisco is 06.00
Work out the time in London when the time in San Francisco is 11.00 pm
	

	
	9
	A coach firm charges £300 to hire a coach, plus a rate per mile.
A group hires a coach and is charged a total of £700 for a 200 mile journey.

What is the rate per mile?
	

	
	10
	The mean of this frequency distribution is 16
Data

Frequency

10
15

43

20

21

25

11

Work out the missing data value.
	



